

Penthouse in Dingli



Dingli, North



€478,000

Reference No: 240041072-170

 Total Rooms: **7**

 Floor Area (m²): **250**

 Bathrooms: **3**

 Bedrooms: **2**

Penthouse - For Sale - Dingli

Dingli – Newly built Penthouse with Airspace currently under construction, with completion in shell expected by June 2025 and full finishing by December 2025. Upon entrance is a hallway leading to the kitchen/living/dining room overlooking the back balcony, main bathroom, two double bedrooms, main having an en-suite shower, a study room, and a spare toilet. At the roof level terrace with a pool deck and a space for a pool. The development consists of just five units, and it's freehold.

Features

- ✓ Lift
- ✓ Air Space
- ✓ Balcony
- ✓ En Suite
- ✓ Space For Pool
- ✓ Roof Terrace

Rooms

- ✓ Hallway : 1.2 x 11 m (13.2 m2)
- ✓ Bathroom : 1.9 x 2.6 m (4.94 m2)
- ✓ Double Bedroom : 3.77 x 3.45 m (13.01 m2)
- ✓ Double Bedroom : 3.5 x 3.77 m (13.2 m2)
- ✓ Bathroom Ensuite : 1 x 2.32 m (2.32 m2)
- ✓ Guest Toilet : 1 x 1.8 m (1.8 m2)
- ✓ Office / Study : 2.65 x 2.45 m (6.49 m2)
- ✓ Kitchen/Living/Dining : 7 x 3.62 m (25.34 m2)
- ✓ Open Space : 1.32 x 3.65 m (4.82 m2)
- ✓ Open Space : 2.77 x 5.8 m (16.07 m2)
- ✓ Open Space : 1 x 117 m (117 m2)

Gallery







Darryl Joseph Vella

RE/MAX Park Estates - St Paul's Bay

M: 99845631

E: dvella@remax.com.mt

T: 21579747

RE/MAX Park Estates - St Paul's Bay

Park Estates Ltd, Mosta Road, St Paul's Bay, Malta